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ee->eea: — 1 000 000 events

BaCkgrOUHdS With ce 20.76 +- 0.01041 pb

ee->eeaa: — 1 000 000 events

0.09864 +- 4.426e-05 pb

ee->eeaaa; — 1 000 000 events

ee->ee: — 1000 000 events 0.000111 +- 4.238e-08 pb

4500 +- 0.2189 pb
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Background n_photons --> ecaaa
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-> Radiation from PYTHIA .

#gen status==1 means final state particle (FS)



Status Codes for Top MC Generators

Status code information for the various generators used in top analyses is hard to find; the following explain how status codes are assigned for Pythia and Herwig generators

Pythia 6

status 1. Stable final-state particle

status 20 Unstable particle

status 18982: Exactly the same as status 2 above

status 3. Documentary particle; Often a process generated outside pythia, then passed to it for showering

Why less than 3
photons on gen

Pythia 8
level?

= MNegative vs. Positive: A particle which decays is given a negative status; the final state only consists of positive-status particles

b status 1! Final-state particle

e status 11-19: Beam particles

e status 21-29: Particles from the hardest subprocess

» status 31-39: Particles from subsequent subprocesses in multiple interactions

= status 41-49: Particles produced by initial-state showers (ISR, or generally particles not from the final state of the hard process)
e status 51-59: Particles produced by final-state showers

e status 61-69: Particles produced by beam-remnant treatment

* status 71-79: Particles about to be hadronized (input partons to a hadron)

» status 81-83: Primary output of hadronization process (first level of hadrons)

e status 91-99: Particles produced in final decay process, or by Bose-Einstein effects (7)
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Background n_photons --> ee
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Stacking eea,ceaa,eeaaa backgrounds
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Stacking eea,ceaa,eeaaa backgrounds
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Background electrons --> ecaaa
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Why max for | electron at gen level?

#gen status==1 means final state particle (FS)
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Stacking eea,ceaa,ecaaa backgrounds
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Background --> eeaaa | Background --> ee
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How to understand track plots?



Stacking eea,ceaa,eeaaa backgrounds
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Possible difference for the properties of photons in MG vs Pythia?



Stacking eea,ceaa,eeaaa backgrounds
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Stacking eea,ceaa,eeaaa backgrounds
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Sample creation problem

Edit Selection View Go Run Termimal Help

e

: Loading analyzers from LibFCCAnalyses. .
: Loading analysis script
cern. ch/use

Analyses/examples/FCCee/bsm/LbRs/ALPs fanalysis_stagel_new.py

'-'Clse'.-'e."ebzk'i31-"IG.-'F';.-'.h'.E Dutput//ALP 7 aa 2pOtey cYY1pB/ALP Z aa Jp@GeV cYYlpd B.root

: 1,686,880

\
alysesVertex” is interpreted and its data member "wpdated_track_parameters" we do not have a dictionary for the coll

ction "ROOT::

Error in =TStreamerInfo:: Ops: :RVec<TVectorT=double> =", Because of this, we will not be able to read or write this data member.

ADataFrame: ent 1
RDataFrame:
RDataFrame:
Trac {

efebakhish/FOCAnalyses/bin/focanalysis”, line 185, in <modules

1

riefebakhish/FCCAnalyse

n

/binffccanalysis™, lime 181, in main

riefebakhish/FCCAnalyses/install/pythonrun_analysis.py", line 1826, in run
module, anapath]
febakhish/FOCAnalys

Jinstall/python/run_analysis.py”, line 628, in run_stages

frun_analysis.py", line 527, in run_local

frun_analysis.py", line 346, in run_rdf

::ColumnMames_t& columnlist, const ROOT::RDF::RSnapshotOptionsk options = RSnapshotOptionsi)) ==

nager,woid= > ROOT::RDF: :RInterface<ROOT: :Detail: :ROF: :AloopManager, void=: :Snapshotistring view treename, string wiew Tilename, const ROOT::
asted.
anager,veid= > ROOT::RDF: :RInterface=ROOT: :Detail: :ROF: :RloopManager, void=: :Snapshot(string_w

:RLoo|

ROOT: :RDF treename, string_view filemame,>sqnst ROOT::RDF::ColumnMames_t& columnlist, const ROOT::RDF::RSmapshotOpticnsk options = RSnapshotOptionsi)) ==
out_of ran
Failed to
ROOT: :ADF: ;R
out_of ran

agé'.v:i-:lb = ROOT: :RDF: :RInter face=RO0T: :Detail: :ROF: ;:RLoopManager , woid=>: :Snapshot(string_view treename, string_view filename, const ROOT:IROE::ColumnMames_t& columnlist, const ROOT::RDF::RSmapshotOpticnsk optiens = RSnapshotOptions()) ==

ested.
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